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DiAcoNALIZING MATRICES
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DIAGONALIZING MATRICES
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DiAcoNALIZING MATRICES

What about POWrS oF (: 2;)?
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Simitar Matrices
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Simitar Matrices

Show that the Jolowing matrices are simlar

(. (—l\ ?‘;) and (252)

1+ ©

2 (16) and (% )

Hint: Write the &f@zﬂﬂd basis $or one inderms of the preﬁvred

\oasis l;our Ojchef, as N Jd’le, WW\'O\AS e.)(amp\e-
g -5

Use C= 7\‘:) and C:(/f— 11)



DiaconauzaBLE MATRICES
A matrix 1s d(agona[izolole 4 it is simlorto & oliagonal matrix.
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DiaconALZABLE Marices
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EiceNVALUES AND SIMILARITY

THeRem. Similar widtnices have the some. exgenalues,
%wF. %a B=cAC!
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DiacoNAL\ZABLE ?
How ob we. know if ' matvix A s diagonalizable ?
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each’ eigervaliie’s algebraic and geometnc mubbiplcries
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DiAGONALIZARLE ©

WEOYE//I. A Sciuafe matnX s o[nb.aonalf%aue Ff and on’% ’-7[
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DiAGONALIZARLE ©

HEoREM. A Souare matriX s o[ndaona'f%aue if and onh{ ot
each en'camvalue’s algebraic and geometnc mubolicries
are e_ow\al.
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DiAcONLIZABLE ©
L ls (75 Tg) ol{agonaliZab\e?

L. \5 (fl) :) ol{aqonalimble?

3 s (2%) d{agonali%alo[&?



"DiacoNALIZATION Recrre
Soy A is diagonolizable, <0 A=CDC How 4o find C ond D7
- Rt tre. eigervalues of Ain comwoder: N, Na.
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DiaconauizitioN RecrPe
Diaﬂonali’le, the g”owinq Modrices :
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DiacoNALIZATION
Are the %\\owmq vodyices oliagonali aable? |} o, d}a90ﬂalize.

B
il
B!

»Nf-

O
|
O
O
\
O

— 00 oOoOCAOQ

— QOO0



